Timothy Moore

Intermediate Algebra II Semester 1 Assessment, U7 ,L16

date

Score

DIRECTIONS: Complete your work on a separate sheet. Write each answer in the space provided.

1. Evaluate the expression when a = 5 and b = 7.

b(12 – 6)a

2. Find the solutions of the inequality. The replacement set

for x is the set of whole numbers.

10 > x > 7

3. Use inverse operations to write a related inequality and

solve for the variable.

D ÷ 6 < 12

4. Write a variable expression for the word phrase.

Choose the best answer.

The quotient when six times a number b is divided by 42.

A. (42 ÷ 6)b B. 42 ÷ 6b C. 6b ÷ 42 D. 42b ÷ 6

5. Write an equation for the sentence.

The product of a number t and 6 is 3 more than the

sum of t and 2.

6. Simplify the expression.

(10p ) (3p ) + 5

7. Use inverse operations to solve the equation.

M – 27 = 85

8. Use < to order the numbers from least to greatest.

2 , 3 , 4

9. Choose the most reasonable estimated answer.

12.3 + 17.8 + 7.93

A. 45 B. 30 C. 38 D. 40

10. True or False?

(7 + 6)3 = 7 × 3 + 6 × 3
Answers

1. ____________________

2. ____________________

3. ____________________

4. ____________________

5. ____________________

6. ____________________

7. ____________________

8. ____________________

9. ____________________

10. ___________________

11. What are all numbers that can replace x to make the

statement true?

|x| = 4.3

A. –4.3 B. 4.3; –4.3

C. 0; –4.3 D. 4.3; 0

12. Find the sum.

–11.5 + 3.8

13. Find the difference.

–3.6 – (–4.2)

14. Find the product.

3.2(–5)(–6.1)

15. Find the quotient.

64 ÷ (–4)

Problems 16–17: Add or subtract. Show the answer as a proper fraction in lowest terms or as a mixed number in simple form.
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Problems 18–19: Multiply or divide. Show the answer as a proper fraction in lowest terms or as a mixed number in simple form.

[image: image2.emf]
20. Show as a terminating or repeating decimal. Choose

the best answer.

[image: image3.emf][image: image4.emf][image: image5.emf]
A. 0.27 B. 1.27 C. 0.14 D. 1.311
11. ___________________

12. ___________________

13. ___________________

14. ___________________

15. ___________________

16. ___________________

17. ___________________

18. ___________________

19. ___________________

20. ___________________

21. Use one of the properties of equality to form a true

sentence. Choose the best answer.

If –4 + a = –23, then a = ?

A. a = 51 B. a = –27 C. a = 27 D. a = –19

22. Use transformations to solve the equation.

2.5(6 + k) = 3k

23. Use transformations to solve the inequality.

19 – 3m + 5 + 7m < 0

24. Simplify the expression on each side of the equation to

obtain an equivalent equation.

5x + 12 + 4x – 16 = 100 ÷ 2

25. Find the circumference of a circle with diameter 31 m.

Use pi = 3.14.

26. Explain why the triangles are congruent.
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28. Use a compass and a straightedge to construct a

parallelogram.

Directions for Problems 29–30: In the diagram, m n.

m
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21. ___________________

22. ___________________

23. ___________________

24. ___________________

25. ___________________

26. ___________________

27. ___________________

28. ___________________

29. ___________________

30. ___________________


31. ___________________

32. ___________________

33. ___________________

34. ___________________

35. ___________________

